

## **Year 1 2026 – Stationery**

Stationery can be purchased through Champion Education (see attached), or you can choose your own supplier for the items below. Please retain any items that can be used year after year, no need for new ones every year if they are still in good condition.

<b>Qty</b>	<b>Description</b>
7	Writing Book 330 x 240mm 64pg 24mm dotted thirds with margin
4	Scrapbook 335 x 245mm 64pg 90gsm
1	Display book A3 20 pocket black insert cover (non-refillable)
1	Exercise book 225 x 175mm 48 page 8mm premium
1	Queensland Targeting Handwriting Student book 1
1	Document Envelope a4, plastic with press stud (green)
12	Triplus Jumbo Pencil 2B
2	Pencil (red) checking/ruling
2	Coloured pencil - 12 pack, triangular jumbo assorted
1	Crayola Crayons 12s twistable
1	Connector marker pens wallet -14 assorted
2	Eraser – large, with sleeve
6	Glue stick 35g Bostik
1	Ruler 300mm
1	Scissors 135mm junior, round end
1	Sharpener double barrel
1	Whiteboard A4 blank side and dotted thirds side
4	Whiteboard markers black, fine bullet point
1	Whiteboard eraser small
1	Ream A4 paper – white 80gsm
	<b>Visual Arts</b>
1	Sketch book A4 20 leaf perforated board cover #534 Spirax
1	Pencil 4B
2	Glue stick Bostik blu 35gm



# McKinnon Primary School



**YEAR ONE  
2026**



26 815 01 B

**ALL ORDERS TO BE COMPLETED ONLINE**

**at**

**[www.campion.com.au](http://www.campion.com.au)**

**using "987M" as your code**

**by**

**Friday 19th December 2025**

**PREPACKAGED DELIVERY SERVICE**

All orders must be Prepaid by Credit Card (MasterCard and Visa accepted)

DELIVERY ORDERS placed by the due date will be sent to your nominated address before 23rd January 2026. Due to supply chain challenges, your delivery may arrive outside the original estimated delivery time frame.

Orders can still be placed after the due date by visiting our website or your Campion Retail Service Centre. Full stock availability cannot always be guaranteed for late orders

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
<b>YEAR ONE</b>						
<b>STATIONERY PACK</b>						
Please check stationery items listed in this pack and order either the full pack or the items that are required. Please retain and reuse what you can from the previous year.						
<b>Option A</b>						
P79477	Mckinnon Primary School Stationery Pack Year One	1	<input type="checkbox"/>	1	100.00	100.00
<b>Retail Price: \$177.05</b>						
<b>Cost Saving: \$77.05</b>						
<b>Resource List Special Price: \$100.00</b>						
OR						
<b>Option B</b>						
P50714	Writing Book 330x240mm 64pg 24mm Dotted Thirds with Margin	2	<input type="checkbox"/>	7	2.90	20.30
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	3	<input type="checkbox"/>	4	2.50	10.00
P56477	Sketch Book A4 20 leaf Perforated Board Cover #534 Spirax	4	<input type="checkbox"/>	1	3.95	3.95
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	5	<input type="checkbox"/>	1	9.55	9.55
P58500	Pencil (2B) Triplus Jumbo	6	<input type="checkbox"/>	12	1.70	20.40
P56237	Pencil Red Checking/Ruling	7	<input type="checkbox"/>	2	0.75	1.50
P56255	Pencils-Coloured 12's Triangular Jumbo Assorted	8	<input type="checkbox"/>	2	7.95	15.90
P55413	Crayons 12's Twistables Crayola	9	<input type="checkbox"/>	1	8.70	8.70
P52150	Markers Connector Pens Wallet 14 Art Assorted	10	<input type="checkbox"/>	1	10.25	10.25
P55650	Glue Stick 35gm Bostik	11	<input type="checkbox"/>	8	3.75	30.00
P58510	Eraser Plastic Pencil Large With Sleeve	12	<input type="checkbox"/>	2	0.40	0.80
P50200	Scissors 135mm Junior Round End R/Handed	13	<input type="checkbox"/>	1	2.10	2.10
P50883	Document Envelope A4 PP With Press Stud Green	14	<input type="checkbox"/>	1	1.25	1.25
P56242	Sharpener Pencil Barrel Double Hole (EL)	15	<input type="checkbox"/>	1	2.10	2.10
P54132	Whiteboard A4 Blank and Dotted Thirds	16	<input type="checkbox"/>	1	7.50	7.50
P51190	Whiteboard Marker Black Fine Bullet Tip Expo	17	<input type="checkbox"/>	4	2.45	9.80
P50049	Ruler 300mm Wooden (cm's only)	18	<input type="checkbox"/>	1	1.00	1.00
P52724	Whiteboard Eraser Mini Magnetic	19	<input type="checkbox"/>	1	1.50	1.50
P52097	Exercise Book 225x175mm 48 Page 8mm Premium Writer/Splash	20	<input type="checkbox"/>	1	0.95	0.95
P04374	QLD Targeting Handwriting Student Book 1	21	<input type="checkbox"/>	1	18.95	18.95
P56190	Pencil (4B) Copperplate	22	<input type="checkbox"/>	1	0.55	0.55
<b>ADDITIONAL ITEMS</b>						
P56061	Paper Copy A4 (210x297) 80gsm White Ream	23	<input type="checkbox"/>	1	7.95	7.95

Number of Boxes ticked:

Delivery, packaging & handling

\$7.95

**ESTIMATED AMOUNT DUE**  
(PRICES CORRECT AT 29/10/25)

\$